A & 0l & A

20158 =3 1 3 eI &XA (&)

2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
5 Al 296,496, 352 270,703,279 25,793,073 9.53%
ALY 230,857,096 213,830,999 17,026,097 7.96%
HWegs 5,723,987 445,002 5,278,895 1186.02%
HE2HZH 59,915,269 56,427,188 3,488,081 6.18%
getssdd 11,722,859 10,669, 184 1,063,675 9.88%
YEHA L H 2L 816,243 826,137 A9,894 A 1.20%
st FgEs E FHYE 4¥ 816,243 826,137 A9,894 A 1.20%
HEst od3gs N 805,681 821,827 A 16, 146 A 1.96%
Sggs H=38 g2 10,562 4,310 6,252 145.06%
ANy - HAX A 593,492 593,102 390 0.07%
A= &2 /s 1d 593,492 593,102 390 0.07%
RNgAYe tEH =5 526,023 525,003 1,020 0.19%
SHES HE LA A & SA 67,469 68,099 A 630 A0.93%
g -=8 933,531 0 933,531 =3
HRES(OI22AA) 933,531 0 933,531 =3
HEHH X = 933,531 0 933,531 =35
ety 9,379,593 9,249,945 129,648 1.40%
gy Az 23 904,622 885,157 19,465 2.20%
HEs 22 81,345 79,345 2,000 2.52%
SEY W28 529,353 509,083 20,270 3.98%
SEXQ XA - B3 22 700 700 0 0.00%
Hedd 23 147,124 149,651 A2,527 A 1.69%
e SAXZA 2l 102,660 102,660 0 0.00%
S 3ot SHs 2A=E 39,940 40,218 A278 A 0.69%
THOHE #E 2435 3,500 3,500 0 0.00%
s 2 =4 ¥ UHAYse dFXH 3,674,305 3,571,491 102,814 2.88%
Sdotl geldal elAb2e 578,909 598,202 A19,293 A3.23%
Wadese 33X 220,784 215,014 5,770 2.68%
HA=SK=A 2,230,482 2,138,892 91,590 4.28%
AT HE A S 532,677 530,086 2,591 0.49%
=22s 243 J& 111,453 89,297 22,156 24.81%
“EEE 928 182,923 190,431 AT,508 A 3.94%




- EBALY - SHRIALR (310 of & o ol F o HnE2 s
182,923 190,431 A7,508 A 3.94%
= 753,789 753,946 A157 A0.02%
ANFHa 25t 753,789 753,946 A 157 A0.02%
S| A TH A2 2] 1,555,466 1,520,405 35,061 2.31%
Mol HE2Y 91,607 92,032 AN 425 A 0.46%
0ol ze| 64,140 67,250 A3,110 AN4.62%
L ALIEO FHA MBS 1,145,830 1,093,471 52,359 4.79%
29 & UIAANE = 253,889 267,652 A13,763 A5.14%
& 477,224 474,766 2,458 0.52%
& g 180,922 183,771 A2,849 A 1.55%
ISEEE2eMAMS 296, 302 290,995 5,307 1.82%
e 599,610 612,172 A 12,562 A2.05%
8 29 599,610 612,172 N 12,562 A 2.05%
62,930 63,338 A 408 A0.64%
L & 3t 62,930 63,338 AN 408 A 0.64%
82,990 86,032 A 3,042 A 3.54%
&l st 82,990 86,032 A 3,042 A 3.54%
3t 78,826 80,565 21,739 A2.16%
&l st 78,826 80,565 21,739 A2.16%
67,894 68,650 AT56 A1.10%
L & 3t 67,894 68,650 A T756 A1.10%
56, 140 56,680 A 540 A0.95%
&l st 56,140 56,680 A 540 A 0.95%
3t 83,585 85,009 A1,424 A1.68%
&l st 83,585 85,009 AN1,424 A 1.68%
70,322 71,203 A 881 A1.24%
&l st 70,322 71,203 A 881 AN 1.24%
3t 62,880 64,000 21,120 A1.75%
&l st 62,880 64,000 A 1,120 A1.75%
73,980 75,873 21,893 A2.49%
&l st 73,980 75,873 A 1,893 A2.49%
3t 67,687 67,240 447 0.66%




2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—

sSEE
Qldle 29 Wast 67,687 67,240 447 0.66%
e Orer2 st 45,446 43,814 1,632 3.72%
QldlEe 29 Wast 45,446 43,814 1,632 3.72%
XX 2orer Zst 55,084 55,731 VaANGTYe A1.16%
2ldE 28 Was 55,084 55,731 aNGYve AN 1.16%
dE Jrer st 56,128 53,838 2,290 4.25%
2ldE 28 Was 56,128 53,838 2,290 4.25%
g Orgr2 st 137,770 139, 190 A 1,420 A 1.02%
QldE 28 Was 137,770 139, 190 A 1,420 A 1.02%
g Orgr2 st 83,008 80,280 2,818 3.51%
2ldE 28 Was 83,098 80,280 2,818 3.51%
g Orgr2 st 114,264 116,474 A2,210 2 1.90%
2ldE 28 Was 114,264 116,474 N2,210 A 1.90%
AR DJrer st 31,735 33,660 A~ 1,925 N5 72%
gldlEe 29 Wast 31,735 33,660 A 1,925 N5 72%
Hegs(E2n) 890 0 890 =3
TSN 890 0 890 =3
s (M) 5 0 5 =35
dXE 5 0 5 =3
ERURS 5,534,222 4,981,784 552,438 11.09%
- olghe 5,534,222 4,981,784 552,438 11.09%
o dHdgd 2= 4,905,429 4,536,692 368,737 8.13%
Hssd 2= 4,302,734 4,131,597 171,137 4.14%
M= META L 602,695 405,095 197,600 48.78%
S (S ACHA D) 628,793 445,092 183,701 41.27%
HEAHHX = 445,092 445,092 0 0.00%
FSDNES 183,701 0 183,701 =3
1,036,135 861,858 174,277 20.22%
RESR =B 1,036,135 861,858 174,277 20.22%
n=Es fst 1853 nssEd x4 1,036,135 861,858 174,277 20.22%
BdStSHM =2l 388,593 296,258 92,335 31.17%
= QUHIE e 555,632 526,600 29,032 5.51%
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2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—

sSEE
NIHIAIRN & X & 91,910 39,000 52,910 135.67%
o2 15,103,432 10,383,455 4,719,977 45.46%
Z3t0l= 4,761,874 3,955,020 806,854 20.40%
Estllzs &8 1,973,632 1,950,392 23,240 1.19%
ANE2stols 2438t 1,973,632 1,950,392 23,240 1.19%
SEN2TE 133,580 131,355 2,225 1.69%
NS =A23 8435t 133,580 131,355 2,225 1.69%
CEAEsEdsE 812,433 779,257 33,176 4.26%
;WA A2 SN2 450,036 427,389 22,647 5.30%
EARE &F 167,207 158,758 A 1,551 A0.98%
NEI2HE Jg 2 205,190 193,110 12,080 6.26%
FRL EAXE =E=E2 2932 =4 1,293,127 1,094,016 199, 111 18.20%
S - HA23 #2435 307,300 307,500 A200 A0.07%
=etdH 29 180,115 194, 155 A 14,040 AT .23%
HHs 2aEd =4 805,712 592,361 213,351 36.02%
Heegs(2ats210) 546,177 0 546,177 =3
SHXE 546,177 0 546,177 ==
Heasgs(=Aa) 207 0 207 =35
RSN 207 0 207 ==
Heegs(a=sa2) 2,718 0 2,718 =35
SdXE 2,718 0 2,718 =3
M= 3,650,030 3,559,805 90,225 2.53%
Hsgss S8 2o &42 &2 g4 3,650,030 3,559,805 90,225 2.53%
HEx=s 2dst 3,650,030 3,559,805 90,225 2.53%
=3 6,691,528 2,868,630 3,822,898 133.27%
HEES BE & s 6,691,528 2,868,630 3,822,898 133.27%
SN 2& ¥ 2208 =24 6,691,528 2,868,630 3,822,898 133.27%
SEES 11,748,804 11,221,304 527,500 4.70%
Hot+E - =2 65,856 22,856 43,000 188. 13%
JhR2ot etAE HES 2l 65,856 22,856 43,000 188.13%
=22 65,856 22,856 43,000 188. 13%
HOI= 10,891,494 10,836, 113 55,381 0.51%




(chel: &)

2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
MRE TAEE =4 10,890, 644 10,836, 113 54,531 0.50%
HFZotl HAE TASE =4 7,688,898 7,647,690 41,208 0.54%
AL X SSHEFA 2 613,033 613,033 0 0.00%
HIl2 23 & N2 HEE 2,588,713 2,575,390 13,323 0.52%
Heegs(HEadmn) 850 0 850 =
EdXE 850 0 850 =35
CHOI 351,137 298,710 52,427 17.55%
tholeg 2el 0 6,750 A6,750 =2
BHEOtA 22 A "Me2el 0 6,750 A6,750 =2
thorlgd 351,137 291,960 59,177 20.27%
CHol2tel 351,137 291,960 59,177 20.27%
saEsYpt 440,317 63,625 376,692 592.05%
HEE =M HEEH 4 429,566 63,625 365,941 575.15%
g ael 47,096 38,265 8,831 23.08%
Jl=dstie 382,470 25,360 357,110 1408. 16%
Heegs(sZd4mn) 10,751 0 10,751 =3
RSN 10,751 0 10,751 =3
3 =X 166,302,558 154,336,480 11,966,078 7.75%
Izl d 35,818,300 32,416,228 3,402,072 10.49%
NAsSsS gty X 36,432 29,512 6,920 23.45%
S =MEETa N ANEAE 36,432 29,512 6,920 23.45%
MAasse oF3Fel M8 N 24,617,598 24,416,685 200,913 0.82%
MASE NENEAE 3,936,961 4,233,573 A 296,612 AT.01%
I ZMEBHE ST K 20,680,637 20,183,112 497,525 2.47%
MNASE = &8 K& 8,027,670 7,970,031 57,639 0.72%
FHsS0 X 8,027,670 7,970,031 57,639 0.72%
HRE S (A3 =X 1) 1,244,883 0 1,244,883 =3
2dXE 1,244,883 0 1,244,883 =3
Hegs(Hdgismn) 988,332 0 988,332 =3
2dXE 988,332 0 988,332 =3
Hesgse=aasy) 903,385 0 903,385 =3
903, 385 0 903,385 =3
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2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—

sSEE
SAHSXE 26,019,341 24,049,700 1,969,641 8.19%
HAANES 25 ¢ N 2,478,849 2,081,059 397,790 19.11%
FUSX MHIAALY 2,478,849 2,081,059 397,790 19.11%
Foferel o & efa 13,476,353 12,282,698 1,193,655 9.72%
Foe AAsd 13,476,353 12,282,698 1,193,655 9.72%
HAANES Ols B3 7,658,669 7,291,486 367,183 5.04%
KNS A2 Ots2 288 |4 2,676,196 2,626,050 50,146 1.91%
Ol S=XAE 28X 4,982,473 4,665,436 317,037 6.80%
FAEAHES N 2,405,470 2,394,457 11,013 0.46%
Nas & FHAAHS NS 987,740 1,025,124 A37,384 A3.65%
F =X MHIA B2 1,417,730 1,369,333 48,397 3.53%
255204 35,632,582 33,750,431 1,882, 151 5.58%
Oy 28 2 M3EFH X 1,057,587 983,927 73,660 7.49%
og 2@ s 1,057,587 983,927 73,660 7.49%
25 2 )5 N2 34,574,995 32,766,504 1,808,491 5.52%
IIE=RX 58 2,023,015 2,010,162 12,853 0.64%
28 2 Haod XN 32,551,980 30,756,342 1,795,638 5.84%
Lol - HAH 66,542,951 62,922,623 3,620,328 5.75%
A2 2 ME 2Y 66,423,273 62,802,745 3,620,528 5.76%
ol =Nsd 66,382,433 62,786,905 3,595,528 5.73%
A Atsl =Xl el = et st 40,840 15,840 25,000 157.83%
dad B35 & 84 119,678 119,878 A 200 A0 17%
dad =X 119,678 119,878 A 200 A0 17%
s 2,289,384 1,197,498 1,091,886 91.18%
2 Xtel et E O = 2,289,384 1,197,498 1,091,886 91.18%
NEFMN & 33LAel = 2,289,384 1,197,498 1,091,886 91.18%
6,136,188 6,321,190 A 185,002 A2.93%
2292 6,101,182 6,286,209 N 185,027 A 2.94%
SSAY == g¢ 9,550 9,700 A 150 A 1.55%
SS9 2 9,550 9,700 A 150 A 1.55%
22Hos FHMOZ AL A AL 6,014,202 6,276,509 N 262,307 N4, 18%
MOH=IIE HMAHAZQ A22e 1,434,365 1,297,452 136,913 10.55%




2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—

sSEE
NEo2lls 23t & AL+H AZ 1,100, 131 961,190 138,941 14.46%
AN Ae SSALSIMNY 23 686,996 1,072,316 A 385,320 A 35.93%
e HAMAH 2= 2,792,710 2,945,551 A 152,841 A5.19%
Hegs(E2aL) 77,430 0 77,430 =3
R SPNES 77,430 0 77,430 =
AZoetotd 35,006 34,981 25 0.07%
ASY =F S 35,006 34,981 25 0.07%
AZAY 2el 35,006 34,981 25 0.07%
SEofl &=t 3,405,601 3,820,667 A 415,066 A 10.86%
=g - 492,002 923,803 A 431,801 N46.74%
s sMg 54 N& 492,002 923,803 A 431,801 NAB . T4%
sEEL NE A Y 377,742 828,333 N 450,591 A 54.40%
Sa=ed XE MY 114,260 95,470 18,790 19.68%
A - ME 2,913,599 2,896,864 16,735 0.58%
S OHMUE A TAE 54 2,849,662 2,896,864 N4T7,202 A 1.63%
SAE =8 E 22 2,099,493 2,161,374 A61,881 N 2.86%
SEE ALY 750, 169 735,490 14,679 2.00%
Heas (A=) 63,937 0 63,937 =3
EMdXE 63,937 0 63,937 =35
o - SA0NY 1,138,409 675,203 463,206 68.60%
Ol LA Xl SEXHR O & 135,750 135,750 0 0.00%
ol X 2el 135,750 135,750 0 0.00%
Ol X &td X SZHA 135,750 135,750 0 0.00%
MY .S 1,002,659 539,453 463,206 85.87%
A &g 1,002,659 539,453 463,206 85.87%
NSFH &d35t 1,002,659 539,453 463,206 85.87%
+=E5J NS 5,278,554 4,077,023 1,201,531 29.47%
&=z 5,036,649 3,945,909 1,090,740 27 .64%
H0ls+ls HEHE TAHE 5,036,649 3,945,909 1,090,740 27 .64%
SEXNY ALY PRI 166,950 161,450 15,500 10.23%
S AIDIEE Al S S 4,731,845 3,723,745 1,008, 100 27.07%
ME2dEX=s SAAHE =2 101,940 33,200 68,740 207 .05%
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2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—

sSEE
RSPNES 52,383 0 52,383 ==
HRas(EX2el) 346 0 346 =3
SdXE 346 0 346 ==
ol bl bl 3,327,071 3,318,783 8,288 0.25%
ol gl gl 3,327,071 3,318,783 8,288 0.25%
& 2tel 3,327,071 3,318,783 8,288 0.25%
ol g1yl 3,327,071 3,318,783 8,288 0.25%
JIE 60,176,007 56,427,188 3,748,819 6.64%
JIE 60,176,007 56,427,188 3,748,819 6.64%
HY2LZH(AZMRR) 101,844 103,874 A2,030 A 1.95%
g =gl 31,974 31,974 0 0.00%
Jl=Z3 69,870 71,900 A2,030 N2.82%
HE2AZH (I 2ZA 93,348 94,910 N 1,562 AN 1.65%
Jl=Z 93,348 94,910 A 1,562 A 1.65%
HE2AZH(SRW) 51,806,398 48,971,976 2,834,422 5.79%
2 51,328,387 48,465,637 2,862,750 5.91%
Jl=dl 478,011 506,339 A 28,328 A5.59%
HE2IZH (232 86,079 80,607 5,472 6.79%
Jl234| 86,079 80,607 5,472 6.79%
HE2IAZH (NS 79,638 59,928 19,710 32.89%
234 79,638 59,928 19,710 32.89%
HE2AZH (HR) 89,949 91,169 A 1,220 A1.34%
Jl=23dH 89,949 91,169 A1,220 A 1.34%
HE2AZH (M=) 186,320 186,070 250 0.13%
Jl234 186,320 186,070 250 0.13%
HE2HZH (LA SAD) 124,011 125,249 A 1,238 A0.99%
el 2| 33,641 33,641 0 0.00%
JlE&l 90,370 91,608 A 1,238 A 1.35%
#HE 2L LU (A =X 2) 71,067 74,328 A 3,261 AN 4.39%
Jl=&34 71,067 74,328 A 3,261 A4 39%
HY2IHH (KL 65,848 62,428 3,420 5.48%
JlE&l 65,848 62,428 3,420 5.48%




2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—
sSEE
HE2LZH (HEEH D) 128,140 128, 140 0 0.00%
Jl=&34 128,140 128, 140 0 0.00%
HY2IZH (LIl B M) 61,210 62,126 A916 ANT1.47%
Jl=&34 61,210 62,126 A916 A1AT%
HH2LZH(FL#FED) 3,158,511 2,974,497 184,014 6.19%
eI =gl 3,080,365 2,892,333 188,032 6.50%
Jl=3dH 78,146 82,164 A4,018 N4 .89%
HY2ZH (A 98,252 97,960 292 0.30%
=3l 98,252 97,960 292 0.30%
HE2HIHI (ZAIQHA D) 835,509 837,481 N~1,972 N0.24%
2 702,562 702,562 0 0.00%
234 132,947 134,919 A~1,972 AN 1.46%
HY2HZH (WS FH D) 55,440 55,440 0 0.00%
234 55,440 55,440 0 0.00%
HE2IZH (AL4) 405,155 392,135 13,020 3.32%
=gl 260,403 260,403 0 0.00%
Jl=Z 4 144,752 131,732 13,020 9.88%
HE2AZH (A=) 104,280 95,340 8,940 9.38%
Jl=Z 4 104,280 95,340 8,940 9.38%
HYR2IZH (S AITHA) 34,708 0 34,708 =3
Jl=Z3 4 34,708 0 34,708 =3
HE2LZH (SE=X1) 216,963 217,470 A507 A 0.23%
el 2l 150,805 149,710 1,005 0.73%
Jl=3H 66,158 67,760 A 1,602 A 2.36%
HY2HZH (EX 22/ 1) 83,802 85,070 A 1,268 A1.49%
Jl=3dH 83,802 85,070 AN 1,268 A T1.49%
HE2AZH(BHr) 664,316 240,622 423,694 176.08%
el 2l 495,164 73,092 422,072 577 .45%
Jl=&34 169, 152 167,530 1,622 0.97%
HE 2L I (=A2) 79,804 80,524 AT20 A 0.89%
Jl=&34 79,804 80,524 AT20 A~0.89%
HH2LZH (S Estal &) 82,298 85,177 A2,879 AN 3.38%




- EE - ZHAY - SR A (3H) Ol &k o J & oA HwE2 pp—

S&ES
ZHl 82,298 85,177 N2,879 A 3.38%
g ZHl(M1S) 85,110 85,000 110 0.13%
24l 85,110 85,000 110 0.13%
g ZdHl(M23) 67,010 69,400 A 2,390 N 3.44%
]l 67,010 69,400 A2,390 N 3.44%
A Ul (M33) 73,921 77,160 A 3,239 AN4.20%
]l 73,921 77,160 A 3,239 N4 .20%
s ZHI (S AS) 69,583 71,693 A2,110 N2.94%
]l 69,583 71,693 A2,110 AN 2.94%
s JH(E=318) 99,047 95,420 3,627 3.80%
=Kl 99,047 95,420 3,627 3.80%
e dH(f=28) 63,442 65,880 N2,438 A3.70%
=Kl 63,442 65,880 N2,438 N 3.70%
s JH(8=338) 65,969 68,270 A 2,301 N3.37%
24l 65,969 68,270 A 2,301 N3.37%
s U (F=48) 62,440 65,000 A 2,560 A 3.94%
24l 62,440 65,000 A 2,560 AN 3.94%
s JH(EE1S) 85,420 89,080 A3,660 A4 1%
24l 85,420 89,080 A 3,660 A4 1%
E JH(FH28) 63,651 65,460 A1,809 N2.76%
=Ll 63,651 65,460 A 1,809 N2.76%
E JH(EH3S) 60,621 63,270 A2,649 A4 19%
Ll 60,621 63,270 A2,649 A4 19%
E JH(HF7S) 46,457 48,220 A 1,763 A 3.66%
=Kl 46,457 48,220 A1,763 A 3.66%
e JH(BELES) 60,970 62,960 21,990 A 3.16%
Rl 60,970 62,960 A 1,990 A 3.16%
HE 2L I (Fas) 90,510 92,860 A 2,350 N 2.53%
24| 90,510 92,860 A 2,350 A2.53%
HYRIZH(RAM1S) 66,625 68,500 A 1,875 AN2.T4%
ksl 66,625 68,500 N 1,875 N2.7T4%
H2Idtl(2AM2s) 99,499 92,654 6,845 7.39%
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